

(۲)

$$\textcircled{1} \frac{a}{q} + a + aq = 1$$

$$\frac{a}{q} \times a \times aq = 1 \rightarrow a = k$$

$$\frac{k}{q} + k + kq = 1 \rightarrow \frac{k}{q} + kq = 1 - k \rightarrow kq^2 + k - 1 + kq = 0$$

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{1 - k \pm \sqrt{(1-k)^2 - 4k^2}}{2k} = \frac{1-k \pm \sqrt{1-2k+4k^2-4k^2}}{2k} = \frac{1-k \pm \sqrt{1-2k}}{2k}$$

$$\textcircled{2} (x^r - r)(x^r + r) = rx^r$$

$$x^r + rx^r - r = rx^r \rightarrow x^r - r = 0 \quad x^r = r$$

$$\frac{r \pm \sqrt{r^2 + 4r^2}}{2} \rightarrow r = x^r \rightarrow x = \pm r$$

$$x = -r \rightarrow r, -r, 1$$

$$x = r \rightarrow r, r, 1$$

$$1 \times \frac{1 - \frac{1}{r^r}}{1 - \frac{1}{r}} = 1 \times \frac{1 - \frac{1}{r^r}}{1 - \frac{1}{r}} = r^r \frac{(1 - \frac{1}{r^r})}{1 - \frac{1}{r}} \rightarrow a \left(\frac{r^r - 1}{r^r - 1} \right)$$

1, r, r

$\frac{1 - r^r}{1 - r}$

$$\frac{1 - r^r}{1 - r} = \frac{1 - r^r}{1 - r}$$



$$\textcircled{14} a + aq + aq^2 + aq^3 + aq^4 = 5$$

5

$$a(1 + q + q^2 + q^3 + q^4) = 5 \times \frac{1-1}{1-1} = 5 \times 1$$

$$\textcircled{15} \frac{q^5 - 1}{q - 1} = \frac{4q}{4} = 1 \Rightarrow d = 1 \quad A = a_r = a + r \cdot d = 1 + r \cdot 1 = 1 + r$$

$$\frac{q^5}{1} = 4q = q^4 \Rightarrow q = 4 \quad B = a_s = a + (s-1)d = 1 + 4 = 5$$

$$\rightarrow 1 + r, 1 + 4 \rightarrow 1 + r, 5 \quad \hookrightarrow 1 + r - 1 = r$$

5

$$\textcircled{16} a + (n-1)d = 1 \Rightarrow a + 10d = 1$$

5

$$a + (n-1)d = 1 \Rightarrow 1 + 10 \times \frac{1}{r} = 1 \quad a_n = 1 + 10 \times \frac{1}{r} = 1$$

$$q^5 = 1 + 10 \Rightarrow q = \frac{1}{r}$$

$$\textcircled{17} a + r = a + 4d = a \rightarrow (a + 4d) + (a + 4d) + (a + 4d)$$

$$a + 4d = aq$$

$$a + 4d = aq^2$$

$$a^2 + 4d^2 + 4da = a^2 + 4da + 4d^2$$

$$d = \frac{a}{-10}$$

$$\hookrightarrow 4d^2 = -4da \rightarrow 4d = -a \rightarrow a = -4d$$

5

$(1) \quad a+d = a$
 $a+rd = aq$
 $a+rd = aq^r$

$(a+d)^r = (a+rd)(a+d)$
 $a^r + rd^r + a^r d + a^r d^r = a^r + rd^r + a^r d + a^r d^r$
 $\rightarrow a = d$

$\frac{\epsilon d}{rd} = r = q$

$a, q^4 = a_{10} = \frac{1}{\epsilon} \times \Delta K = 121$

$(2) \quad \text{Mag } \{aq^r, aq^r, aq^r\}$
 $\rightarrow aq^r = 3aq^r + aq^r \rightarrow q^3 - 4q^r + 1 = 0$

$q^3 - 4q^r + 1 = 0$
 $q(q^2 - 4q^r + 1) = 0$

$q = \frac{4 \pm \sqrt{16 - 4}}{2} = 2 \pm \sqrt{3}$

$\rightarrow 1$

غير قابل چون چون
 نسبت و سوز

$(9) \quad a_{\epsilon} = r + \mu \times \frac{1}{\epsilon} = 1, 2a+d$
 $a_{11} = r + \nu \times \frac{1}{\epsilon} = \frac{1}{\epsilon} = 0, 2a+d$
 $a_{12} = r + \mu \times \frac{1}{\epsilon} = -1+d$
 $- \epsilon, -\Delta, -4, \mu, \dots$

$(0, 2a+d)^r = (-1, 2a+d)(1, 2a+d)$
 $(0, 2a)^r + d^r + 0, 2ad = -1, 2a - d + 1, 2ad + d^r$
 $\rightarrow 0, 4ra + 4a = -9rad$
 $\rightarrow d = -2, 2a$

$\rightarrow q_r = 1, 2a$

$(10) \quad a_1 + a_{\epsilon} + a_{\nu} = a + aq^r + aq^r = \nu \mu$
 $a(1 + 1 + q^r) = \nu \mu$
 $\nu \mu a = \nu \mu \rightarrow a = 1$

$aq^r = a + d$
 $aq^r = a + qd \rightarrow d = a(q^r - 1)$
 $aq^r = a(1 + q(q^r - 1)) = a(1 + q^{\mu} - 1) = a(q^{\mu} - 1)$

$q^r = 1$
 $q^r - 1 \rightarrow q = 1$
 $q^r = 1$

$d = aq^r - a = \frac{\nu \mu}{\mu} - \frac{\nu \mu}{\mu} = 0$